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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0o', 'FVIEC:r—o', 'ECIl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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14:05 71 20.0 i FiHe14:05 (REERSE)
23t 497.0 (%) 140.0 329053 %EC: 1475, 1000000000001, PH: 6.9
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XX6

BfiE) | EBIETK (D) | E=E (EH/K) | XK EFE

06:55 171 20.0 i B1%@06:55 (KRFERE)
07:40 171 20.0 i BR1%@07:40 (KPBIEREE)
09:05 171 20.0 i BRi&@09:05 (KRFERE)
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12:25 171 20.0 i 1Ri%e@12:25 (K BERKS)
13:05 171 20.0 i Bi1%013:05 (KREEHE)
13:45 171 20.0 i Bi%@13:45 (RFEREE)
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15:10 171 20.0 i BRi&@15:10 (FKPBIERE)
16:05 171 20.0 i RR1%@16:05 (FKRAER)
Bit] 2052.0 (12%) 240.0 3EHKEC: 1811.7, PH: 6.9
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